VERMILION PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FORESTRY							
Pulpwood							
Hardwood					55	cords	
Pulpwood (Total)					55		
Saw Timber							
Hardwood					91,352	board feet	
Saw Timber (Total)					91,352		
Total Pulpwood, Chip & Saw,							\$39,363
Saw Timber FOB Mill							
Total Forestry Stumpage							\$28,727
(Total)							
Christmas Trees (Total)	*				800	trees	\$32,000
Forestry (Total)							\$71,363
FRUITS							
Blackberries (Total)	*	0.3	1,450.00		435	pints	\$761
Citrus							
Navels	*	1.0	275.00		275	bu.	\$5,500
Satsumas	*	15.0	250.00		3,750	bu.	\$75,000
Other Citrus	*	1.0	200.00		200	bu.	\$4,000
Citrus (Total)		17.0					\$84,500
Figs (Total)	*	1.0	500.00		500	lbs.	\$875
Mayhaws							
Orchard	*	2.0	250.00		500	lbs.	\$650
Mayhaws (Total)		2.0					\$650
Fruits (Total)		20.3					\$86,786
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	2,880.0	3.30	Yield / sq. ft.	9,504	lbs.	\$12,830
Greenhouse Vegetables (Total)		2,880.0					\$12,830
HAY FOR SALE							
Grass (Total)	83	894.0	2.40		2,145	tons	\$198,198

Hay for Sale (Total)		894.0				\$198,198
Home Gardens (Total)	6,660					\$1,332,000
NURSERY CROPS						
Fruit and Nut Trees (Total)	*				acre	\$8,000
Floraculture & Bedding	6				acre	\$275,000
Plants (Total)						
Woody Ornamentals (Total)	*				acre	\$8,000
Foliage Plants (Total)	*				acre	\$8,000
Nursery Crops (Total)						\$299,000
PECANS						
Native (Total)	700	80.0	875.00	70,000	lbs.	\$66,500
Pecans (Total)		80.0				\$66,500
Rice (Total)	290	33,543.0	47.79	1,603,019	cwt.	\$14,266,869
Soybeans (Total)	12	1,550.0	23.00	35,650	bu.	\$208,766
SUGARCANE						
Raw Sugar (Total)	39	28,949.0	4,259.00	123,293,791	lbs.	\$14,795,255
Molasses (Total)		28,949.0	128.00	3,705,472	gal.	\$741,094
Sugarcane (Total)		28,949.0				\$15,536,349
VEGETABLES						
Mustard (Fresh) (Total)	*	5.0	600.00	3,000	doz. bunches	\$21,000
Okra (Fresh) (Total)	14	15.0	250.00	3,750	bu.	\$112,500
Peppers						
Tabasco Red (Processing)	*	1.0	28.00	28	cwt.	\$1,960
Peppers (Total)		1.0				\$1,960
Sweet Corn (Fresh) (Total)	11	10.0	500.00	5,000	doz. ears	\$17,500
Tomatoes (Field) (Total)	10	1.0	1,000.00	1,000	lugs (20 lbs.)	\$20,000
Turnips (Fresh) (Total)	*	1.0	600.00	600	doz. bunches	\$4,200
Vegetables (Total)		33.0				\$177,160
TOTAL ALL PLANT ENTERPI	RISES					\$32,255,822
		RIES & WILI	DLIFE ENTERPRISES	PRODUCTION		
	Number of		Units of	Total	Units of	Gross Farm
Fisheries	Producers		Production	Production		Value
-	rioducers		rioduction	FIOGUCTION	Measure	v alue
AQUACULTURE						
Crawfish (Farm) (Total)	300		10,000 Acres in P	Prod. 6,000,000	lbs.	\$7,200,000
VERMILION PARISH						

VERMILION PARISH FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Alligators (Farm) (Total)				287,231	ft.	\$8,042,471
Aquaculture (Total)						\$15,242,471
FRESHWATER FISHERIES						
Freshwater Finfish (Total)	20			1,024,610	lbs.	\$474,087
Freshwater Fisheries (Total)						\$474,087
MARINE FISHERIES						
Shrimp (Total)	253			13,822,548	lbs.	\$21,999,967
Menhaden (Total)	22			507,994,677	lbs.	\$12,699,867
Crabs (Total)	55			736,980	lbs.	\$543,154
Marine Fisheries (Total)						\$35,242,989
Alligators (Wild) (Total)				15,052	ft.	\$376,313
HUNTING LEASES						
Waterfowl (Total)	150	250,000	No. Acres		acre	\$3,750,000
			Leased			
All Other Game (Total)	10	5,000	No. Acres		acre	\$35,000
`			Leased			
Hunting Leases (Total)						\$3,785,000
Honey (Total)	*	15	No. Hives	50	lbs.	\$45
TOTAL ALL FISHERIES & WI	LDLIFE ENTERPRISES					\$55,120,904

^{**} The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION Gross Farm Number of Units of Units of Total Animal Producers Production Production Measure Value CATTLE & CALVES Steer Calves 300-400 lbs. 3,977 head \$1,976,987 400-500 lbs. 4,474 head \$2,495,485

CATTLE & CALVES					
500-600 lbs.			1,83	4 head	\$1,135,028
600-700 lbs.			50	0 head	\$384,930
Steer Calves (Total)					\$5,992,430
Heifer Calves					
300-400 lbs.			2,4	5 head	\$1,092,601
400-500 lbs.			3,40	3 head	\$1,806,907
500-600 lbs.			3,33	9 head	\$1,918,730
600-700 lbs.			62	3 head	\$414,993
Heifer Calves (Total)					\$5,233,231
Yearling Cattle					
600-700 lbs.			1,10	0 head	\$714,643
700-800 lbs.			94	0 head	\$669,398
Yearling Cattle (Total)					\$1,384,040
Cow-Calf Pairs (Total)			1,20	0 pair	\$1,140,252
Cull Cows (Total)			4,24	0 head	\$1,603,780
Cull Bulls (Total)			20	8 head	\$175,874
Cattle & Calves (Total)	713	25,871	No. Cows		\$15,529,608
HORSES					
Brood Mares					
Race Horses	21	136	No. Brood Mares	7 head	\$696,000
Show Horses	252			7 head	\$3,148,000
Recreation Horses	223	508	No. Brood Mares	4 head	\$276,000
Brood Mares (Total)					\$4,120,000
Stud Fees					
Race Horses				2 mares bred	\$580,000
Show Horses		80	No. Stallions 44	0 mares bred	\$660,000
Stud Fees (Total)					\$1,240,000
Race Horses (Total)	21			2 head	\$24,000
Show Horses (Total)	252			3 head	\$2,365,000
Recreation Horses (Total)	1,683		3,20	0 head	\$4,890,000
Horses (Total)					\$12,639,000
POULTRY					
Edible Eggs (Total)	162	4,440	No. Hens 21,99	1 doz. eggs sold	\$15,702

VERMILION PARISH

VERMILION PARISH

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Poultry (Total)					\$15,702
SHEEP					\$13,702
Wool (Total)		420 No. Sheared	2,523	cwt.	\$631
Slaughter Lambs (Total)			,	head	\$60,156
Feeder Lambs (Total)			54	head	\$4,050
Show Lambs (Total)			10	head	\$3,000
Stocker Sheep (Total)			24	head	\$1,800
Cull Sheep (Total)			95	head	\$4,750
Sheep (Total)	64	743 No.Breeding			\$74,387
		Ewes			
GOATS					
Show Goats (Total)			10	head	\$2,500
Slaughter Goats (Total)			38	head	\$4,750
Stocker Goats (Total)			12	head	\$1,140
Cull Goats (Total)			28	head	\$1,820
Goats (Total)	*	52 No. Does			\$10,210
SWINE					
Show Pigs (Total)			22	head	\$6,160
Feeder Pigs (Total)			380	head	\$11,400
Slaughter Hogs (Total)			104	head	\$12,503
Culls (Total)			32	head	\$5,120
Swine (Total)	28	109 No. Sows			\$35,183
EXOTIC ANIMALS					
Deer/Antelope (Total)	*	No. Animals		head	
Exotic Animals (Total)					
TOTAL ALL ANIMAL ENTI	ERPRISES				\$28,304,089

VERMILION PARISH \$115,680,816